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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What is cost accounting? 

 AhUPÂø» PnUQ¯À GßÓõÀ GßÚ? 

2. Define cost unit. 

 AhUP A»S Áøμ¯Ö. 

3. What do you mean by inventory control? 

 \μUQ¸¨¦ Pmk¨£õk Gß£uß ö£õ¸Ò GßÚ? 

4. What is scrap? 

 PÈ¨¦ GßÓõÀ GßÚ? 

5. State the meaning of EOQ. 

 EOQ Gß£uß ö£õ¸Ò TÖP. 

6. What is ABC analysis? 

 ABC £S¨£õ´Ä GßÓõÀ GßÚ? 

7. What is meant by idle time? 

 ÃnõÚ ÷|μ® GßÓõÀ GßÚ? 
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8. Define Gantt task bonus scheme. 
 Gantt task ÷£õÚì vmhzøu Áøμ¯Ö. 

9. Define overhead. 
 ÷©Øö\»øÁ Áøμ¯Ö. 

10. State the meaning of variable overheads. 
 ©õÖ£k® ÷©Øö\»ÄPÒ Gß£uß ö£õ¸Ò TÖP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Explain the scope of cost accounting. 

  AhUPÂø» PnUQ¯¼ß GÀø»°øÚ 

_¸UP©õP ÂÍUSP. 

Or 

 (b) What are the advantages of cost sheet? 

  AhUPÂø» AÔUøP°ß |ßø©PÒ ¯õøÁ? 

12. (a) Annual demand 2000 bags 
  Order cost per order Rs.1,200 
  Annual carrying cost per bag Rs.480 
  Compute EOQ from the above data. 
  Bsk ÷uøÁ = 2000 ø£PÒ 

   J¸ Bøn°ß AhUPa ö\»Ä = ¹.1200 

   J¸ ø£US HØ£k® Bsk HØÖøPaö\»Ä = 
¹.480   

   ÷©ØSÔ¨¤mh uPÁÀPøÍ øÁzx ]UPÚ 

Bøn öPõÒ•uÀ AÍÂøÚU PnUQkP. 

Or 
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 (b) Distinguish between bin card and store 
ledge. 

  \μUS Amøh°øÚ \μUS ÷£÷μmi¼¸¢x 

÷ÁÖ£kzxP. 

13. (a) A worker is paid 25 paise per hour for 
completing a work within 8 hours. If he 
completes the same within 6 hours, calculate 
wages under Halsey plan and the rate of 
premium is 50%. Ascertain the effective 
hourly rate of earning by the worker. 

  J¸ ÷Áø»ø¯ 8 ©o ÷|μzvÀ •izuõÀ 0.25 

ø£\õ T¼ öPõkUP¨£kQßÓx. J¸ ÷Áø»ø¯ 

6 ©o ÷|μzvÀ •izuõÀ AÁÝUS 

QøhUPTi¯ T¼ø¯ íõÀ÷\ ¨Íõß ‰»® 

PnUQhÄ® ©v¨¦ Fv¯® 50%. 
Or 

 (b) Write short notes on ‘‘Time booking’’ and 
‘‘Job card’’. 

  ÷|μ® £vÄ ©ØÖ® ÷Áø» Amøh ]Ö SÔ¨¦ 

ÁøμP. 

14. (a) Explain the term under absorption. State 
any four causes. 

  ÷©Øö\»Ä «m¦ GßÓõÀ GßÚ? H÷uÝ® |õßS 

Põμn[PÒ SÔ¨¤kP. 

Or 

 (b) What do you meant by overheads? How is it 
classified? 

  ÷©Øö\»ÄPÒ GßÓõÀ GßÚ? AøÁ GÆÁõÖ 

ÁøP¨£kzu¨£kQßÓÚ? 
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15. (a) What is machine hour rate? State its merits 
and demerits. 

  G¢vμ ©o ÂQu® GßÓõÀ GßÚ? Auß |ßø© 

wø©PøÍ ÂÍUSP. 

Or 

 (b) Calculate machine hour rate to cover the 
overhead expenses indicated below: 

  (i) Electric power  – 75 paise per hour 

  (ii) Steam   – 10 paise per hour 

  (iii) Water   – 2 paise per hour 

  (iv) Repairs   – Rs. 530 per  year 

  (v) Rent  – Rs. 270 per year 

  (vi) Running hours  – 2000 hours per year 

   Original cost of the machine is Rs. 12,500 

   Depreciation rate is 7.5% per year. 
  (i) ªß\Uv   –  ©oUS 75 Põ_PÒ 
  (ii) }μõÂ   –  ©oUS 10 Põ_PÒ 
  (iii) }º   –  ©oUS 2 Põ_PÒ 
  (iv) £Êx£õº¨¦  –  ¹.530 Á¸hzvØS 
  (v) ÁõhøP  –  ¹. 270 Á¸hzvØS 
  (vi) Jmh ÷|μ®    – 2000 ©o ÷|μ®  

       Á¸hzvØS 

  C¯¢vμzvß A\À öuõøP ¹.12,500 

   ÷u´©õÚ® ÂQu® 7.5% J¸ Á¸hzvØS. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the different between cost accounting and 
financial accounting. 

 {v{ø»U PnUQ¯¼ØS®, AhUPÂø» 

PnUQ¯¼ØS® EÒÍ ÷ÁÖ£õkPøÍ ÂÍUSP. 

17. Prepare stores ledger entries by using LIFO 
method of pricing issues method. 

April    Rs.

1 Bal. in hand 300 units 600

2 Purchased 200 units 440

4 Issued 150 units –

6 Purchased 200 units 460

11 Issued 150 units –

19 Issued 200 units –

22 Purchased 200 units 480

27 Issued 250 units –

 CÖv°À Á¢ux •u¼À PÈuÀ •øÓø¯U öPõsk 

£shP¨ ÷£÷μk u¯õº ö\´¯Ä®. 

H¨μÀ    ¹.

1 \μUS øP°¸¨¦ 300 A»SPÒ 600

2 öPõÒ•uÀ 200 A»SPÒ 440

4 öPõkzux 150 A»SPÒ –

6 öPõÒ•uÀ 200 A»SPÒ 460

11 öPõkzux 150 A»SPÒ –
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19 öPõkzux 200 A»SPÒ –

22 öPõÒ•uÀ 200 A»SPÒ 480

27 öPõÒ•uÀ 250 A»SPÒ –

18. From the following data, calculate the labour 
turnover rate by applying. 

 (a) separation method 
 (b) replacement method and 
 (c) flux method. 

 No.of workers at the beginning of the month =900 
No.of workers at the end of the month =1100 
during the month 10 workers left, 40 workers were 
discharged and 150 workers were recruited. If the 
25 workers  are recruited in the vacancies of those 
leaving, while the rest were engaged for an 
expansion scheme. 

 ¤ßÁ¸® ÂÁμ[PøÍU öPõsk RÌUPsh 

•øÓPÎÀ EøÇ¨¦ ©õØÖ ÃuzvøÚU PnUQkP. 

 (A) uÛ¨£kzuÀ •øÓ 

 (B) ©Ö A©ºzwmk •øÓ ©ØÖ® 

 (C) L¤ÍUì •øÓ 

 ©õuz öuõhUPzvÀ £o¯õÍºPÎß GsoUøP = 900 

©õu CÖv°À £o¯õÍºPÎß GsoUøP = 1100 

|h¨¦ ©õuzvÀ 10 £o¯õÍºPÒ öÁÎ÷¯ÔÚº 40  
£o¯õÍºPÒ v¸¨¤ AÝ¨£¨£mhÚº. 150 

£o¯õÍºPÒ ÷uºÄ ö\´¯¨£mhÚº. 

öÁÎ÷¯Ô¯ÁºPÒ ChzvØS 25 ÷£øμ ÷uºÄ 

ö\´uõÀ, Cuμ¨ £o¯õÍºPÒ Â›ÁõUPz vmhzvØS 

£¯ß£kzu¨£kÁõºPÒ. 
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19. A worker takes 80 hours to do a job for which the 
time allowed is 100 hours. His daily rate is Rs.2,50 
per hour. Calculate the earnings of worker under 
the following methods of payment of wages. 

 (a) Time rate 

 (b) Piece rate 

 (c) Halsey  plan and 

 (d) Rowan plan. 

 ÷|μ® Ãu®, ÷Áø» Ãu®, íõÀ÷\ vmh® ©ØÖ® 

÷μõÁß vmh ‰»® T¼ø¯U PnUQhÄ®. 

 J¸ ÷Áø»¯õÒ 80 ©o ÷|μzvÀ J¸ ÷Áø»ø¯a 

ö\´x •iUQßÓõº. AuØS öPõkUP¨£mh ÷|μ® 100 

©oPÒ vÚUT¼¯õP J¸ ©o ÷|μzvß T¼ Ãu® 

¹.2.50. 

20. A company has three production departments and 
two service departments. The following details are 
submitted. 

Particulars Production Dept. Service Dept 

 A B C X Y 

Primary overhead 15,620 25,086 9,094 8,000 5,200

 The expenses of the service department X and Y 
are to be allocated as follows : 

Particulars A B C X Y 

Dept. X 30% 40% 20% – 10%

Dep. Y 10% 20% 50% 20% – 
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 Estimated working hours of production 
department are as follows : 

 Department A –1000 hours 
 Department B –2500 hours 
 Department C –1400 hours 

 Calculate overhead rate per hour under repeated 
distribution method. 

 J¸ öuõÈØ\õø» A, B, C GßÓ ‰ßÖ EØ£zv 

xøÓPÐ® X, Y GßÓ ÷\øÁz xøÓPÐ® EÒÍÚ. 

¤ßÁ¸® ÂÁμ[PÒ \©º¤UP¨£mkÒÍx. 

ÂÁμ® EØ£zv xøÓPÒ ÷\øÁzxøÓPÒ

 A B C X Y 
•ußø© ö\»ÄPÒ 15,620 25,086 9,094 8,000 5,200 

 ÷\øÁz xøÓPÎß ÷©Øö\»ÄPÒ ¤ßÁ¸©õÖ 

¤›zuÎUP¨£kQÓx.  
ÂÁμ® A B C X Y 

xøÓ X ö\»ÄPÒ 30% 40% 20% – 10%

xøÓ Y ö\»ÄPÒ 10% 20% 50% 20% – 

 ÷uõμõ¯©õÚ EØ£zvUPõÚ ÷Áø» ÷|μ[PÒ xøÓ 

Áõ›¯õP RÌPsh£i EÒÍx. 

 xøÓ A –1000 ©oPÒ 

 xøÓ B –2500 ©oPÒ 

 xøÓ C –1400 ©oPÒ 

 A, B ©ØÖ® C–°ß ö©õzu ÷©Øö\»ÄPÒ «sk® 

£Qº¢uÎ¨¦ •øÓ°À PshÔP. 
—————— 


